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IBRYRD, VoI 0 6 AR ctions to students
Read slowly and understand the questiong]
2. T3 TBR A B,C,
WAL ES31033 @Za; 04;;03%333 NVITNIR), DeBRNDIS, FIN9Y €303 Hogma 7]
Each question has 4 ot o o8 MO B 87 mer moko Facs Fer mmm:
q .1on .as 4 options, namely A, B, C, D. Out of these, shade the most appropriate answer
only one circle in the OMR with blue or black ball point pen only.

&.00.50° 89 2B0RE X0 A=z mdoo&md YTOBTHBMRN 83 B8 deads.
Example to shade the OMR in correct method is given below.

XD Jgs/Correct Method I, s/ Wrong Method
.X0. / Q.No. YOZT/Answer T.%0./Q.No. | &v3Z/Answer

L ®EO0 1. ARO®
2. Q®OO 2. A0
3. @EOO 3 A@00
4. ®OO® 4. 0000

2,000 T3 .0BE0T B SORNY), 3¢ BRBLRTW.
More than one option should not be shaded for one question.
2..20.80°59 03T 232, TOEDNTI), [PBLRTW - Torke HOODTOI, NFWHOS N3 [y
Do not erase or rub in the OMR and do not fold or tear the OMR.

2.20.80°3¢) FOWORPAT BPLENTI), SBHE H3F [PRJ.

Fill the OMR with related information without fail.

3 LIONOR dbrRZE @o%ﬁ@d.ad)ag. SEO0T QY TINONR Qf\)i@ﬁo:
There is No Negative marks for incorrect answers. So attempt all the questions.

2.20.0° 5O ZFTIH0H RRFTF Wi, JF TRDYTD TR “AIRPFOD W™ QowY TRADITRA Mo Sl
Shade themqueczes?ion paper version in OMR and put a signature in *‘student signature
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compulsorily.
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; 57';951’: cvJeria of the question paper will be considered as final, in case of any dispute arising
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variation in translated version.
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A. 3pT$
B. odewons
-~ C. mozs
D. Zondns

4. ‘aaasaod’ NOWNTH AT ONTH TS
~ A. I
B. Sng@zos
& OIPE IO
D. ®03350z)
AGORTTRESED VAR Ny, MEIYE, 3o Lpmicin ARS 33 :
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B. 50353 xdneess
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quacks

“ Jackis honest boy.

The wmwti:.mmm.xw.nn.cmnau blank is :

A an
- B, i
C. to
D. the

3. //‘ﬁ;}r will - you say, when

S erl:dl& wins a ' game?
Good mo, m‘“ﬂ:&
,\15/ m.gi&?v"?' C

N
|

nyabhamdalmi”

A. Simile

L)
A

FPers Sonific Ccat; nn»
l\/f‘,/[f/:lt)l‘h)r

. Irony
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6. Choose the question from the given options to get the underlined words as answer :

I was born in the month of March.

A. Which day you are born?
B. How are you born?
_ C. When are you born?
D.

Why are you born?
. The wrongly spelt word is : g
—A. bullockes B. vehicle
C. children D. machine
Pass the ball, please.....isa/an :
|

A. Imperative sentence
B. Assertive sentence
— C. Exclamatory sentence

D. Interrogative sentence

Complete the proverb.

Where there is a will, there is a

A. tool B. aim
C. point -D. way
The full form of I'd is :

A Ido B. Iwould
C. Idoes D. Idid
The other degree of ‘beautiful’ is :

A. beautifully B. beauty
D. beautify

C. most beautiful




ion * I benefitg .
uestion : e medicina of it
12. Read the passage and answer the q dueto th

g,
illage pharmacys hich means perfect, 'mp‘hgh
s a villag rit W
The neem tree is kII:O‘sV'c‘ :ued carista’ in sansk
bark and leaves. It i

and complete.

In sanskrit ‘neem’ is called :

B. perfect
A. village pharmacy

_D. arista
C. complete

13. The suffix ‘ness’ suits with : B. beautiful
A. strong D. early
> kind

14. Write in one word :
A small areg of still water,
A. River
—B. Waterfa))
C. Ocean
D. Poo]

> The opposite word of ‘proug’

—A. humble

B. love

(F8)

C Innocent

D. respect

t does n
Teacher Patlent En
A Doctor

ot belong to the group :
gineer

). Teacher

Engineer

Patient




ned8 / MATHEMATICS
1. womd BRESS BS R 2155, momas 5 wrseene B

A. 10770 B % iomes
o 10735

- . = D ¥ 10775

The cost of one bicycle is X 2155, then the cost of 5 bicycles is :

A. 10770 B. 210765

C. Iihi D. 10775

2. 3487 ) TIC TIT BnewE WOmRWATRN

A. 3480 _ B. 3590

~C. 3490 D. 3470

When 3487 is rounded off to nearest tens place :

A. 3480 B. 3590

C. 3490 D. 3470
3 .‘1% 3 G3=R08 SR

A. 42.0 ~B. 42

C. 042 D. 0.042

The decimal form of %—(2) is :

A. 42.0 B. 4.2

C. 042 D. 0.042

4. BRR0 : 4 nodd 40 JVT DB 3 notd 10 dwX :
B. 7n0ot8 10 doxR

fA. 7 riot3 50 DR
D. 7 notd 40 R

C. 7noe3 30 deR

Add : 4 hr 40 min and 3 hr 10 min :

A. 7 hr 50 min B. 7 hr 10 min

C. 7 hr 30 min D. 7 hr 40 min
B




S, aufobomy LE3 vowne gosg :

B, 10
A 8

12
e

The number of edges in a brick is ;
A, 8

B, 10
C8 A
6. 202 oo Ty g Xos, :
A. 20 B, 22
C. 40 D. 60
The twice of the number 20 js :
A. 20 B. 22
C. 40 D. 60

S g toumy Xone Qo8 gy
435, 461, 445, 454, 47 .

~A. 470, 461, 454, 445 435 B. 435,445, 454, 461, 470
C. 435,454 445, 470, 461

D. 470,435, 461, 454, 445
The descendin given numbers
435, 461, 445, 454, 470 i 3

A. 470, 461, 454, 445, 435 B. 435, 445, 454, 461, 470
C. 435, 454, 445, 470, 461

D. 470, 435, 461, 454, 445

8. 35 5'.37303:&2{ CRZTRODA JOZS 2z
A. 35 Gz B. 30 SR
C. 3gozoom = D= 3850 S0
350 paise when converted into I'upees js -
A. 35 rupees B. 30 IUpees
C. 3 rupees

D. 350 I'upees

10
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9. BRHDT B MIU3 ;
Ay 14 cm

C 7 . E. z :‘m" 5 cm
The perimeter of the given figure is :
A. 1l4cm S
G D. 6 cm
10. 2099 8 SN0l :doas's :
A. 2098 _ B 2100
C. 2090 D, 2095
The next number of 2099 i .
A. 2098 B. 2100
C. 2090 D. 2095
11. 845 =3 532 38 SB SZ:x
A. 316 B. 319
=G 313 D. 317
The difference between 845 and 532 is :
A. 316 B. 319
e 313 D 31

12. 8,0,5,7 woines), I eoDdeenzs Sumwmms nogy o,
A. 8570 B. 8075
[ 8507 —D. 8750
The greatest 4 digit number formed using 8, 0, 5, 7 without repetition is :

A. 8570 B. 8075
. 8507 D. 8750

11




13,

DA% : 4398 + 288 .

~A. 7278 B. 7377
C. 7380 D. 7288
Solve : 4398 + 2880 -
A. 7278 B. 7377
C. 7380 D. 7288
14. oz=zz ZEBO 2o =g 20 Raomz o3,
A. 4 BiS \
A9 D. 15 Q‘ {
The number that has to pe filled in the blank circle of the ~ \ ‘
factor tree is : k .
A 4 B. S
C 9 15
IS & tabjoss 2omsone moony XERE SRS :
246 8
3’69 12
A 10 B l“,)
10
c {2 -D. 1%
The next equivalent fraction in the given series is :
$§46 8
3'6°9’ 12
10
A ‘lg B. 5
10
c {0 D. 13




16. 3~YHT Racswos SR SBAT Bexs

(00 vgdasy

K SRE —~ B. 9(0°

C. 80 D. 70°
The measure of the angle between two hands of the given clock :

A 65 B. 90°

C. 80° D. 70°

B
13




NS / SCIENCE

A. 1978 B. 1979
~C. 1988 D. 1989
National forest Policy wag amended in the year
A. 1978 B. 1979
C. 1988 D. 1989

2 RITICOTOH R0ERe & BE,0°R Imweosy :

A. 0.02% —B. 0.04%
C. 78% D. 21%
Percentage of carbon-dioxide jp atmosphere is :
A. 0.02% B. 0.04%
C. 78% D. 21%

DB 23353 HE 8 AR AT -

A Tz B. &3
-C. oz D. ve

A. Plasma

Liquid

14
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4. BEod 2RI JOeY Ty LvHeinenzss LOTETED

—A. %&meﬁ@ew
B. mg edzir-‘ﬁ

C. ©QTWPOLENCLIT
D. s8gnednensc’

The instrument used to examine heart beat is ¢
A. Stethoscope B. Microscope

. Anemometer
C D. Hydrometer

5. 2Rne S 3TOBNRA wnITr Wi !

SA. EIRT B. mownss

C. Lypees® D. gomes @, v8 &

The gas needed for the process of Photosynthesis in plants is :

A. Oxygen B. Hydrogen

C. Ozone D. Carbon-di-oxide

6. ©Te0F) Beormon SERR, R §03 ¢

A, 2EEES 309 B. ©0@os

_C. zeear30od D. 0aTow 0D

The process by which the food gets digested and reaches the blood is :
A. Excretion B. Circulation

C. Digestion D. Respiration

15
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10. [ATRE &&a&raoad;a gvg |

A. 208BEY

B. 3338 zep
C. 3x38 0003 Ty M
—~D. 8n¢8 ey
The teeth with sharp edge is ;
A. Incisors
B. Molars
C. Pre-molars
D. Canines

1. 8 39NT S3RTPORD WVZBR gosirt WMDY

. BIPET
A. 3P B mowmg

. ©odne
C 3%° —~D. WIOT* o

One of the following does not undergo sublimation :

A. Camphor B. Ice

C. Iodine D. Naphthalene ball

[TH VEOT e L WO ¢

A. moT3 ~B. u33

C. z=z8 D. 3xo0d
Upward force of water is :

A. Density B. Pressure
C. Buoyancy D. Mass

17
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3RO BACTIDH B3
3 #3055 ai“?, oS3y .
SRR ev3S3

A. 0030
_B. 83995
C. ©reod
D. 523353:‘55
i i o
In the following picture Mohan ; A
in this direction : ; =l Standing
North
rth west

= %Mohan
B. North east
C. South east

D. South west

B. 8» DG Bess

D. 3308 505908 32

Imaginary horizontal lines drawn on the globe can be called :

A. Latitude B. Equator

C. Longitude D. Tropic of Cancer

BERCRONTO 23%?71%3534 BI0R)TT e33R BT, BRce, 8@'&1, e ToTIB SRRDYTD, ¢

sBeHRMST
B. D003 Bemood

L. DI Bexood
D. :gp%oéd AIRIOWW!

b, BReWMDE 23T

ultivation of crops in the agricultural land along with cattle rearing, poult

riculture and apiculture is called :
B. Intensive farming

. Mixed farming
D. Shifting farming

Plantation farming
21
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8. ¢ma e

‘T Leochs 8 :
A Lesor

B. gonvsc

D. 8s¢n0
» G ugmnmw
The district that belon

£ to Malnad region :
A. Bidar

B. Bengaluru
I
C. Chikkamagayr, D. Kolar
Y. eremy ooy NE 3oy sSotnme ; i
A &:‘Hmnw B. gassdezinys
C ;vdmb D. nzne
P ¢
These are called ‘Shooting stars’ ;
A. Asteroids B. Comets
C. Meteoroids D. Planets
10. 8283 Supey TBID 208
A. Doy B. mx3
-C. oo D. oz,
Kokkare Bellury bijrq Sanctuary is in the district of
A. Mysury B. Hassan
& Ramanagar

1. »ozy SECDO mehasohy

~A. Booze dgjaamf%
B. %z abe T Terish
C. SO o g;g)mm

D. o BV aptf {2

WF 3T O5e :

The physicaj feature
map of India jg .

A. Coasta] plains

B. Eastern ang Western ghats
C. Peninsular plateay
D. Northern plaing

Mmarked in the

22




~A. BBOFETE TOFTWOS dog
C. RDdgoxs I
The latitude which passes through the mid
A. Tropic of Cancer
C. Equator circle

13. BYOS Bear wosg QP

LA R
C. onndd

Tippu's summer palace is here :

A. Mysuru
C. Mangaluru

14. TOCDYT Besvood :
_A. J0RTE B0l
C. RReRDIVF Beaso0d)
The temple of Hampi is :
A. Virupaksha temple
C. Somanatha temple

[5. BRLILS 837 B MZweodH WFE YOTRTTHBCIRNT

NONCED FNTOOD
SN FBNTOOD
B AE000
2OGEBTED) B0TIO0

A.
B.
C
~D.

The following picture is an example for this

type of community :

A. Rural community

B. Urban community

C. Agricultural community

D, Tribal community

D. Equator

B. Sedonzmugs

D. gonenes

B. Srirangapatna

D. Bengaluru

B. WTOPeZT Bemowon
D. TRTVYETT BemoUOD

- B. Maruleshwara temple

D. Pathaleshwara temple

B. Tropic of Capricorn
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C. Kuvempu L

MRROTRY wEE ‘SIM’ 8 933 ca ;

F\J*LLQ iﬁg \-r&lf&’z‘&\&!) 2R k"u’“ A
A, OO

mi\ﬂ ’Li"

\ (\r ;{ i\lﬁ"\t" —,.\,\l 3

1S C¢ “L’&. as J\LLL)LL'

Rose

"t DWe r of ”"U‘L' .

k' ~
SUnfower

SeEOnty foOs
VRTHS

Sardar Pate] stadiy Im is in :

A. My Imbai D
B
[ [\[ftn E)f’j‘l'“

ERERET B3N “Beno &

A. E?@x’f%i‘)é?é\ 0, ‘C\

‘C\@‘
O

Va» .

B. 0007

D), &dh,

j“jﬁ;i lididu | W)ﬁ@h Ju haaduva o
‘mﬁi‘y@ iDIy ; S A

B.

D.

Subscriber Identification M lodule B

- | RO ]°
Subscribe Indiv

l.ﬁ_L_ P il Yoo 40000 i Y 1 Ve P 3 \
dponsors Individual Modem D. Service Providers [

 expanded | form of ‘SIM’ which is used in | mobiles is:

) 1 ¢ogie 1A N\ ] - F 118
ubscriber Identification Module 3, Subscribe; 1n
ponsors individual Modem LJ, OCrvice Provid
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SRSRE WTe /MENTAL ABILITY

1. noar zcdzgab_l @Ol Iva

A3 Y B. 4,16
SU Do L8, 15
Select the odq one among the following ;

AL 39 B. 4, 16
C 24 D. 5, 15

D E’f] @ S xoodos oy uy benchaed :

2.0 wa-smg PROIE Neovozs aswszl Oonvsg 30T RON D). TIMRTT T I ATt
Sone 233 Q00TR) 33 mmn@b

—~A. 35 B. vvaws

C. 285 D. Rremang

Republic day in a year wyas celebrated jin India on Tuesday, then the 23rd day of
January of the Same year falls op :

A. Saturday B. Sunday
C. Friday D. Monday

28
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4 20T Xo, 0,00 TR SRROALIN 7 BRd38, e Xo. 3
e . ) feits O
\ : i ,
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lﬁ»f ”L"
‘S'L”F A number is dded [( to get 7. 1"!1!“\"'(‘"UL'"JJJLJL%(J

3 d&}’/ L’ . MO, :‘f\‘*)rk\" ! WRY) & WO WO oT \‘J,i),::m}ali
i »\3«
A. 20

If the digit 4 is replaced by

decreases by:

D. 200

& 1n nlu( - numbper «j"}?f‘-j ;l ~|

40
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Che lumbey s)fd(k'l.lﬂ:«“ teral, In th siven ngure is

PO, CMR ooy OO WEmES DNO & DB, toert ‘ ¢
B. FPS

D. EOS

IS written ag CMR then DNQ can be written as

B. FPS
D. EOS

0. 1.2.4 8

g Ty O ;‘El)} ;:m ‘e ;‘Ti-;:&!%g

—D. 16

1 the series 1,2, 4, 8 5

D. 16
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